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Mathematiques
EXERCICE 1
1.1 §=10800m?, (Ipt)
1.2 a)AB=9cm (0,5pt)
b) AB=0,09m (0,5pt)
c) échelle 1/1000 (0,5pt)
13 Li=575m (Ipt)
4 @) a=53° (1,5pt)
b) L;=169m (1pt)
L5 a)V=164L (0,5pt)
b)p1=136 € (0,5pt)
c) (1,5pt)
X 0 10 20
y 0 80 160
d) graphique (1pt)
e) p2 =40 € (0,5pt)
Sciences physiques
EXERCICE 2
21 P=45N (0,5pt)
22 Fléche partant de G, verticale, vers le bas, de 4.5 ¢cm (1pt)
EXERCICE 3
3.1 M{(CsHi6) = 100g/mol (1pt)
32 H;0:eau (0,5pt)
CO; : dioxyde de carbone (0,5pt)
33 (1,5pt)
Electrons Protons Neutrons
K 19 19 21
P 15 15 16

EXERCICE 4
41 P=80W (Ip)
42 I=6,67A (Ipt)
43 W=1200 Wh(1pt)

EXERCICE 5
5.1 v=30m/s (1pt)
52 1=06s (Ipt)
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